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1. The captain as well the players were responsible
for winning the trophy.

1. The captain also the players were

2. No Improvement

3. The captain as well as the players was

4. As The captain with the players were

Solution : 3 RULE - when two or more subjects are joined by
as well as, like, unlike, besides, in addition to, and not , with,
together with, along with, rather than, no less than, except,
nothing but, the verb is used according to the first subject.
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2. The Director will agree with the proposal if
we do not exceed the budget.
1. agreed by the proposal

2. agree on a proposal

3. agree to the proposal

4. No Improvement

Solution : 3
Agree with (someone)
Agree to (something)
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3. The animal resembled with a cat.
1. resembled to

2. No improvement
3. resembled

4. resembled by

Solution : 3

Omit ‘with’.’ Resemble(v)’ is
generally used without a
preposition.
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4. | like both tea and coffee but prefer
the....
1. least
2. latter
3. last
4. later

Solution : 2

Latter which means ‘being the
second of two items’ fits in the
context appropriately.
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5. All students should express their
views in the group discussion without any fear.
1. candid

2. outspoken
3. secluded
4. guarded

Solution : 1

Candid which means ‘impartial
and free from prejudice ' fits in the
context appropriately.
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6. A colour blind person is not able
to......... between colours.
1. glance

2. distinguish

3. define

4. observe

Solution : 2
Distinguish fits in the context
appropriately.
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7). FRAIL
1. elaborate
2. fancy

3. weak

4. robust

Solution : 4
Frail — easily broken
Robust — Strong



8). ENDURANCE
1. indolence

2. patience

3. tolerance

4. persistance

Solution : 1

Endurance- ability to endure hardship , persistence,
tolerance

Indolence — laziness , slowness in the mindset



9). LAMENT
1. bleed

2. bemoan
3. appeal

4. celebrate

Solution : 4
Lament — to express grief
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Q1. Select the most appropriate meaning of
the underlined idiom in the sentence.

All those who carried the day iIn reality shows
failed to make a mark later.
1. made a guest appearance
2. won a victory

3. acted as hosts

4. participated

Solution : 2. won a victory



Q2. She has no other hobby but that of
collecting coins.

1. not other hobbies but
2. No substitution

3. no another hobby but
4. no other hobby than

4. no other hobby than
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Q.3 Select the INCORRECTLY spelt
word.

1. aggregate

2. acquisition

3. acquaintance
4. explaination

Solution : 4. explanation



Q.4 Select the most appropriate option to fill in the
blank.
People that the country can progress under

able leadership.
1. have believed
2. believe

3. Is believing

4. believes

Solution : 2. believe
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Q.5 Select the most appropriate
synonym of the given word.
JEOPARDY

1. protection

2. prevention

3. perl

4. promotion

Solution : 3
JEOPARDY-&EdT peril- 9
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Q6. It would be wise to accept the
company's offer lest you should
regret later.

1. lest you shall not regret
2. lest you should not regret
3. lest you would regret

4. No substitution

Solution : 4. No substitution
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Q7. His employees were asking him
for a raise for a long time now.
1. asked him for a rise

2. No substitution

3. are asking him of a raise

4. have been asking him for a rais@§

Solution : 4. have been asking
him for a raise



Q8. Select the correctly spelt
word.

1. humillated
2. humelated
3. humilated
4. humiliated

Solution : 4. humiliated - sraaTfAa
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Q9. This is one of the boldest
economic reform that have ever
been introduced.

1. economic reforms that has
ever ‘
2. economic reform that has ever ¥
3. economic reforms that have

eVek,|ution : 3. economic reforms that

4. Ngsubstitution
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Q10. Select the most appropriate
synonym of the given word.
IGNOMINY

1. morality

2. virtue

3. disgrace

4. esteem

Solution : 3. IGNOMINY- sEqTHt disgrace -
STYHTA

morality-ATasaT Virtue — T esteem - T




Q11. Select the correctly spelt word.
1. omelete
2. omelette
3. omlate

4. omelate

Solution : 2. omelette I
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Q12. Select the most appropriate option to

fill in the blank.

The company has appointed twice as
women as men.

1. most

2. many

3. more

4. much

Solution : 2. many
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13. She became able to free herself with her
debts by working day and night.

(a) She became able

(b) to free herself

(c) with her debts by working day and night.

(d) No error

Ans.(c)

Sol. Use ‘from’ in place of ‘with’. As ‘free
somebody from something’ or ‘free from
something’ is correct.
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14. Neither he or his wife has arrived.
(1)has arrived
(3) No error

(2) Neither he
(4) or his wife

(4) Neither..... nor is correct form of

connectives.
Here, nor his wife is the right usage.
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15. The process was too simple and easy
to understand that it hardly took five
minutes for us to grasp it.
(1)No error
(2) and easy to understand that it hardly i§§
(3) took five minutes forustograspit
(4) The process was too simple

(4) So: to such a great degree (So refers
to a result clause introduced by that.)
Hence, The process was so simple



D Home Work

Answer
His essay is
done.
A. completely
B. complete
C. halfly
D. completion



Home Work

Meditation is way to calm
your nerves.

(A) a best

(B) one of the best

(C) the best

(D) An best
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